SUMMARY PRACTICE TEST CHAPTER 15

1a.

N= 360

(30 years * 12 payments per year)

I%= 6

PV= 170000

(Purchase price – down payment = $180,000 – $10,000)

PMT= 0 alpha solve – 1019.2358

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $1,019.24 per month.

1b & c.

	Payment #
	Interest amount
	Amount Toward Principal
	Balance of mortgage

	1
	$170,000 * .06 * (1/12) = $850
	$1,019.24 – $850 = $169.24
	$170,000 – $169.24 = $169,830.76


2.
Down payment = $110,000 * 0.2 = $ 22,000

N= 360

(30 years * 12 payments per year)

I%= 5.5

PV= 88000

(Purchase price – down payment = $110,000 – $22,000)

PMT= 0 alpha solve –499.65432

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $499.65 per month.

Amount financed = Purchase Price – Down payment

$110,000 – $22,000 = $88,000

Total of monthly payments = # of monthly payments * Amount monthly payment

360 * $499.65 = $179,874
Total finance charge = Total of monthly payments – Amount financed

$179,874 – $88,000 = $91,874

3.
10 % down, implies she is financing 90% of the purchase price

Amount financed = $90,000 * 0.90 = $81,000

a.
30 years @ 5%

N= 360

(30 years * 12 payments per year)

I%= 5

PV= 81000

(Purchase price – down payment = $90,000 – $9,000 = $81,000)

PMT= 0 alpha solve –434.82551

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $434.83 per month.

Total of monthly payments = # of monthly payments * Amount monthly payment

360 * $434.83 = $156,538.80
Total finance charge = Total of monthly payments – Amount financed

$156,538.80 – $81,000 = $75,538.80

b.
30 years @ 5½%

N= 360

(30 years * 12 payments per year)

I%= 5.5

PV= 81000

(Purchase price – down payment = $90,000 – $9,000 = $81,000)

PMT= 0 alpha solve –459.909090

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $459.91 per month.

Total of monthly payments = # of monthly payments * Amount monthly payment

360 * $459.91 = $165,567.60
Total finance charge = Total of monthly payments – Amount financed

$165,567.60 – $81,000 = $84,567.60

c.
30 years @ 6%

N= 360

(30 years * 12 payments per year)

I%= 6

PV= 81000

(Purchase price – down payment = $90,000 – $9,000 = $81,000)

PMT= 0 alpha solve –485.63592

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $485.64 per month.

Total of monthly payments = # of monthly payments * Amount monthly payment

360 * $485.64 = $174,830.40
Total finance charge = Total of monthly payments – Amount financed

$174,830.40 – $81,000 = $93,830.40

d.
30 years @ 6½% 

N= 360

(30 years * 12 payments per year)

I%= 6 [image: image2.png]



PV= 81000

(Purchase price – down payment = $90,000 – $9,000 = $81,000)

PMT= 0 alpha solve –511.975099

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $511.98 per month.

Total of monthly payments = # of monthly payments * Amount monthly payment

360 * 511.98 = $184,312.80
Total finance charge = Total of monthly payments – Amount financed

$184,312.80 – $81,000 = $103,312.80

4.
Amount financed = Purchase Price – Down payment

$210,000 – $30,000 = $180,000

N= 420

(35 years * 12 payments per year)

I%= 6

PV= 180000

(Purchase price – down payment = $210,000 – $30,000 = $180,000)

PMT= 0 alpha solve – 1026.3414

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment will be $1,026.34 per month.

5.
Amount financed = Purchase Price – Down payment

$210,000 – $30,000 = $180,000

Total of monthly payments = # of monthly payments * Amount monthly payment

420 * $1,026.34 = $431,062.80
Total finance charge = Total of monthly payments – Amount financed

$431,062.80 – $180,000 = $251,062.80
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